Pl

=1

BE T 2R o i — K= (20094 - k=) JEE R T P 2R 1 — KR (20094 - K Z)

&35 R
XA 9A26H (1) % | BIFE | BIFE Y 3= RER/BRTJI - 541
1| 9:00 w0 -2 EE ZIN T | X& | HE |[v=7
2| 10:10 | AHEE 5 - 0 B WE | W | A | KE [v=T
3| 1120 | R 1 -1 H mA | R | ZE | DRE |v=7 ik EF11%E
4| 1300 | EE 5 -0 5 ME | NEB | EE | T |v=7 A 14%
5| 14:10 Bw 0 -1 3K BIEE | A | /AR | FEEE |v=7 JEfRIF 4% - 1 9%
6| 1520 | JER] 0 - 1 FEME wE | | Rk | %R |v=T 1B
&35 R
O 1084H (A) *E | BlIE | BIE Y = & TWINY - XPANIT
1| 9:00 [ic} 1 - 2 FE#E FE | /R | BHF | 7= |HaA =zFq
2| 10:10 ® o1 -2 ZEE fTEE | RAER| A | EFE |v=7
3| 1120 | BER 2 -1 4 G | B | BB | AL |v=7 ik EH11%E
4| 13:00 H O3 - 1 i NG| EA | k2P| ER |[v=7 AR 10
5| 14:10 w3 -2 A | /AR | BEE | SEGP  |#&A RH14%
6| 15:20 | FER 1 - 2 FEF MR | f&E | BEIL | BT —X |v=7 JERI 3%, 6%, 9%
1B
&35 FRAE A
D 10A 108 (+) T | BIE | BIE i % E KFR 7R AT« 411
1| 9:00 B4 -0 E3] ZIN il | A | N [v=T
2| 10:0 | BRI 1 - 2 7 WIES | B | RE | AR |v=7 e FARR 9%, 127
3| 11:20 | BJE 2 - 1 A BE | F IR | AERRER | v=T
4
5 1B
6




